CD-ID: Narex CZ 2018_v18r01

636056 - EPL 75-E5

® ™
s r@®

o'@)

2,

Strana1z4

09.03.2018



636056 - EPL 75-E5

CD-ID: Narex CZ 2018_v18r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
1 66592199 1| Vicko drzadla EPL 60-E5
2 623812 1| Sroub M5x16
4 66592022 1| Drzadlo EPL 60-E5
5 614856 4| Sroub M4x20
6 66405909 1| Viko mechanismu UpIné EPL 60-E5 uplné
7 66406357 1| Kryt EPL 60-E5
8 66592192 1| Tésnéni EPL 60-E5
9 66405160 1|Zatka EPL 60-E5
10 66592064 1| Téahlo Uplné EPL 60-E5 Uplné
1 66591491 2 | Vodici pouzdro EPL 60-E5
12 66591804 1| Tésnéni EPL 60-E5
13 66594717 1| Pruzina EBU 18-E2
14 66591673 1| Drzak tésnéni EPL 60-E5
15 591683 2 | Podlozka EPL 60-E5
16 66592020 1| Objimka EPL 60-E5
17 614457 1| Sroub M5x8
18 66594716 1| Tésnéni EPL 60-E5
19 66625083 1| Vedeni EPL 60-E5 591807
20 615019 2 | Podlozka 4,3
22 614841 2 | Sroub M4x12 K SF WN 1352
23 614459 1| Sroub M5x10 616668
24 614478 2 | Kolik 3méx12
25 614800 1| Pojistny krouzek 6
26 591427 1| Podlozka EVP 13 B-2S
27 66618054 1| Jehlové lozZisko RNAO 5x10x8 TN
28 66618056 1| Pfilozka Uplna EPL 60-E5 Uplna 591173
29 633635 1| Pojistny krouzek 4 DIN 6799
30 592727 4 | Podlozka EPL 60-E5
31 66594951 2 | Vyvaha EPL 60-E5
33 66594704 1| Kulisa EPL 60-E5
34 66591172 1| Vystrednik Gplny EPL 60-E5 uplny
35 66615097 2 | Jehlové pouzdro HK 0808
36 66591529 1| Podlozka EPL 60-E5
37 614468 2 | Matice M5 1SO 4032 616664
39 614488 1| Kulicka D 7 G40 1SO 3290
40 591530 1| Podlozka EPL 60-E5
41 66592164 1| Péka predkmitu Uplna EPL 60-E5
42 66591352 1| Paka rolnicky EPL 60-E5
43 66591659 1| Rolnicka EPL 60-E5
44 66615098 1| Jehlové pouzdro HK 0408
45 614937 3 | Pojistny krouzek SG RA 3,2x0,6 DIN 6799 616674
46| 66594711 1| Cep rolnicky EPL 60-E5
47 66621014 1| Doraz 16,4
09.03.2018 Strana2z4



636056 - EPL 75-E5

CD-ID: Narex CZ 2018_v18r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
47 66621015 1 |Doraz 16,6
47 66621016 1 |Doraz 16,8
47 66621017 1 |Doraz 16,5
47 66621018 1 |Doraz 16,2
48 614323 2 | Sroub M3x6 PZV, DIN 965 614424
50 66595040 1| Packa EPL 60-E5
51 66593239 1| Pruzina EV 108 D
52 614484 1| Kulicka D 3,5 G40 1SO 3290
54 628558 4 | Sroub 4x20 ECO-SYN 614309
55 66591878 1| Pfevodova skfif Uplna EPL 60-E5 uplna
56 66779062 1|Sané EPL 60-E5 66775576
57| 66594688 2| Sroub EPL 60-E5
58 66628361 1| Podlozka EPL 60-E5 592185
59 629461 1| Sroub M5x16 DIN 6912 628362
60 66594720 1| Vlozka sani EPL 60-E5
60 66594766 1| Vlozka sani EPL 60-E5
61 634676 6 | Sroub M4x10 DIN 7500 614862
64 66628266 1| Odsavaci nastavec EPL 60-E5
65 66591744 1| Tésnici krouzek MR 030
66 66623708 1| LozZisko 608 T1X ZZ1 MC5 E 614996
67 66403849 1| Rotor vyvazeny MP 130
68 66623709 1| Lozisko 626 T1X ZZ1 MC5 E
70 66775320 1| Loziskové pouzdro MP 030.00
71 66594693 1| Vzduchovodna vlozka MP 130
72 404302 2 éep MP 130
73 66406527 1| Stator vinuty MP 030
74 635739 1| Motorova skfin EBU 12 622080
75 66594692 1| Packa MP 130
76 66622095 1| Pruzina MP 130.00 594969
77 66406327 1| Tahlo predni ¢ast MP 130
78 66620191 1| Tahlo zadni cast EBU 12 594702
79 66616159 1| Spinac Marquardt 1247.0102 615096
80 66627001 1| Kartace sada EBU 13 A
81 66594686 2 | Pruzina kartace MP 130
82 66591508 2 | Drzak kartace uplny MP 130
84 66635418 1| Elektronika JSP60E 66615095
85 66405715 2 | Tlumivka Uplna MP 130 Uplna
86 66593250 1| Pfichytka EV 10-2
87 618348 2 | Sroub 3.5x16 614328
88 66594700 1| Navlacka EN 16-E5
89 620440 1| Kapota EPL 75-E5 66591528
90 628558 1| Sroub 4x20 ECO-SYN 614309
91 66622069 1| Pohyblivy pfivod HO5 RN-F 2x1 EURO 3m

09.03.2018 Strana3z4



636056 - EPL 75-E5

CD-ID: Narex CZ 2018_v18r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
92 66592195 Ty¢ voditka EPL 60-E5
93 66592193 Voditko EPL 60-E5
94 614318 Sroub M4x20 PzV, DIN 7985 614414
95 66592628 Voditko GplIné EPL 60-E5 Uplné
96 66594689 Stredici hrot EPL 60-E5
98 616047 Kli¢ 4
101 66622062 Pripojné vedeni MP 132.00 594824
102 66591263 Viyrovnavaci podlozka MP 050
103 647476 Souprava prislusenstvi 1x0.82x375 CSA (Prisl.) 614103
104 66625212 Prilozka Uplna EPL 60-E5 Uplna
09.03.2018 Strana4z 4



